Illinois State University

ISU ReD: Research and eData

Founding Celebration

2-18-1909

1909 Founder's Day Banquet Book No.2

W. T. Bawden

Follow this and additional works at: https://ir.library.illinoisstate.edu/founding

Recommended Citation

Bawden, W. T., "1909 Founder's Day Banquet Book No.2" (1909). *Founding Celebration*. 262. https://ir.library.illinoisstate.edu/founding/262

This Book is brought to you for free and open access by ISU ReD: Research and eData. It has been accepted for inclusion in Founding Celebration by an authorized administrator of ISU ReD: Research and eData. For more information, please contact ISUReD@ilstu.edu.

FOUNDERS' DAY BANQUET FEB. 18, 1909. W. T. BAWDEN TREAS.

BOOK NO.2.

Table 1. 1. Mirs Wellard 200 2. " Lower 100 3. Wiss Root 4. Jesse Goodwin 100 Table 2. 1. S. Reeder 100 2. M. Felmley 100 3. C. Smith 100 4 a Standbury 100 H. Pretrace

Table 3. Table 5. 1. Florence Brett 200 1. Mr. Cooling = 200 2. " 2. " 3. Mr. Blaurbard 200 3. My Barlow 200 4. 11 4. ... Table 4. Table 6. 1. G. Riloter 1. Miss Durant 400 1 00 2. Cade 2. " Purcell 1 00 3. Powers 3. " a. Patterson 1 00 4 Swith 4. " M. Patterson 1 00 Walters Mounce Ev. Walletin Mar Hounce

Table 9. Table 7. 1, J.W. aldrich Sr 1. Ray Wallace 2 00 200 3. J.C. Ellinwood 3. Exlic Hargitt 200 3 Rol. Shotwell 200 Table 8. Table 10. 1. Seo. H. Leinbach 10.11 3. Mis Thrie 3. Elmer Kingerich 200 . (Lydia S. Hallett 00 . Christine Heritage 100 Mande Wbbott 2 200

Table 11. Table 13. 200 1. a.l. Shinner 100 2. Mrs Carrichers 100 2,00 3, This There 3. Mrs Barnes 100 4. John adams 100 200 J. Levelie Gengat Table 12. Table 14. 200 1. Mics Shipe 600 3, Mrs. Truin 200 3, 4. " 200 5. Mies Bakey 6. " Raney J.

Table 15. Table 17. J. J. Condon 1. E.a. Turner, 2 00 2. Hanson 100 2, " " 200 3. B.F. Harber 3, F. G. C. Catalin 200 Ho n n 4, ~ 11" J.O. S. Manchester 200 Table 16. 500 3, Table 18. 4. 1. Miss Tasold 400 6. Mies Jones 100 7. Miles & Gooding 4. .. 100 8. Mrs. Sinclair 3.00 10. ...

Table 21. 1. Sta. Barker 2 Table 19. 2.00 1. a. Dr Weese 200 2. Ray " 200 3. Ray Shotwell 3. Hildebraut 2 200 4. " 4. 11 17 200 J. Mac Street 200 J. Dr. Kasben 2 6, 11 11 200 7. John aldrich 2 100 4. W. Mc Kright Table 20. 10.0. U. Bambert 200 400 1. Mrs. Liggitt 11, " 12. W. H. Mir Colley 2 200 2. Minuse Moon 3. Niwrod Mace 13, 11 4. J. S. Schopald 100 14. Wm. Brigham

	Table 22.			9	Table	23	
1.	1000 mm 2 182	200		1.		12 - 12	400
2.	3-345	300		2.	11	t.t	300
	Kenny 67				36		100
4.		1.00		4.			200
5.	lloon + 1 9	1.61		5.			
	Carrier 10			6.			
7.	1/10	440		7.	* /		
8.				8.			
9.				9.			
10.				10.			
11.	Miss Horgelander	100					4
	Catina						
	-						
		- O					
ĺ							
1							
			1				1

Table 24. Table 25. 1. 7. M. Blair 2. Capt. Burn ham 4. Unsold. 5. Unsold, 6. Unsold. 7. Felmley Capen

Jable 26. 1. Mrs. Bourland 2. Mrs. Bourland 3. Mr. Lufkin	200	Jable 27. 1. Miss Eyrstons 3. Miss Eyrstons Hank	100
4. Supt Stableton	200	4. Miss Howdy	200
J. M. J. Holines 2	200	5	200
6. Miss Dillon	100	6. Dr. E. Manney	200
7. Miso Dillon	100	7. " "	
8. Inda Mayers	100	8. Miss Blanchard	200
9. Miss Edwards	200	9	
10		10. Miss Barton	2 00
		12. Capt. Ungusture	200
		14. Mrs. Tavenner	1.00
Ξ.			

Table 28. Table 29. 1. C. Harrison 200 1. Miss Humphrey 300 3. Proping 200 4. M. Capere (Mrs. 4, ... 5. 11 Tr (Cure 200 J. E. Rosenberry 6, " 6. 100 7. L. H. Diehl 200 7. J.D. Templeton 200 8. " " 8. .. 200 9. Miss Hartmann 9. C. Brown 200 10. " " 10. 11. Miss Fell 200 11. n. Jinnett 200 12. " 12, " " 13. Geo. P. Brown 13. 3. Harrison 2:00 114 13. M. J. Holmes 200 Refunded to Mrs. Cumughan \$200

Refunded to Miss Pierce #100 .. Table 30. Table 32. 1. W. J. Bawden. 200 1. W Jarbogast 200 2. " " 2, 11 11 3. Mr. Howe 200 200 3. 7. D Barber 4, 4. 5. Miss Prence J. Jay Crist 200 100 6. Miss Surpson 6. 11 100 Miss Ela 100 Table 31. 1. Miss Cummings 100 2. Miss Colby 100 3. Miss Milner 00 4. Miss Lee 00 J. Miss Fisher 00 6. Miss Cyford 00

Table 34. Table 33. 1. Chas L Capen and oc 200 1. The Trevan Rooth 2. 3. O' Corville 3. The browell 4. Unsold 5. Mr. Mr. Commische 5. A. A bora lie (200 7. Pres Februley 200 7. Dos Burting 8. 9. Frank H. Wright (1 00 10. Coulter and 2 Barbar 2 - Coulter 1 100 (Reserved by Pres. Felmley.)

Table 35. Table 37. 1. C.7. Shinkle ~ 200 1. S. Schroeder 200 2. " " 2 00 2, " " 3. E.S. Freeman 200 4. " " 4. Table 36. Table 38. 1. Frank Du Frain 200 1. Dr Moore 200 2, 17 2. " 200 003. alester 3, C. E. King 4. of the same of the 3. Butley 200 4. " "

Table 39. Table 41. 1. Westhood 400 1. Combine 2. Tables 41, 42, 43 3. tomake 12 pl 4. for Mrs. Mc Cornecte [add 2 tables.) 1-2 Mrs. M. Comuck ... 200 Table 40. Table 42. 1. Mrs. D.C. Sunt 3 3. Ethe laynes 200

Table 43. Table 45. 1. B. H. Cour 100 2,00 1. Miss Kind as well 100 2. Mico Burgese 2. 46 17 3. Mrs. Sinchis 3. Miss Clement 100 100 4. Unsold 4. Eding Ficher 100 Table 44. Table 46. 1. Sixto Maceda 200 1. Earl Case 2, " " 2. " " 3. Arlbert Fundley 3. Wm Gray 200

	7		
Jable 47. 1. Mrs. J. D. Curring ham 2. 3. Miss Stevenson 4. Miss Sawyrs Bran the K	L.	Jable 49. 1. Frances M. Evers. 2. Verna Nes bitt 3. Miss Wetzel 4. Miss J. Allen	100
Jable 48. 1. C.a. Burner 2. "" 3. J.H. Keyp 1 4. E.C. Buck	200	Jable 50. 1. Arace Brown 2. 11 11 3. 11 11 4. 11 5. Himes	500

Table 51. Table 53. 1. Baylor 1. J. B. adam 200 400 2. 2, " 200 3, ., ., 3. Phelps 4. h 100 J. B. C Marie 5. Miss Hundricks 6. " Walkole 100 6. " Table 52. Table 54. 1. Chas Brokaw 1. Listing Pales 400 300 2. 10 10 2, 1 3, 11 3. Miss Wasson 4. 11 11 4. W. Wilson 100 5. Marg. Icharfer 100 6. Arives 100

